BIOLOGY <ii9 fasm=

OPTIONAL
MODEL PAPER SET - 1

SECTION ‘A’ - BOTANY

Time :- 90 Minutes Max. Marks — 35
Class : XII Pass Marks — 11V

All questions are compulsory \HT U2 37fd q 7
Candidates are required to give answer in their own words as far as possible.

GENERAL INSTRUCTION

This question paper consists of four groups i.e. A, B, C, & D
S U H IR g JAT I, 9, F 3R T 2
All groups are compulsory ¥ U 31 a2 |

Group — ‘A’ s — I
Select one correct answer 1x10=10
el U HE TR BT I
1. Flow of energy in the ecosystem is
(a)  unidirectional (b)  bi-directional (c)  multidirectional

(d)  without direction

qiRRerferes 5 & SOl &1 yarg 8iar & —
(®) u® faem H @) < feemer # (M) | faemen |
(&) Tt ot oo & ==

2. Which is a greenhouse gas?
(@ H (by CH,4 (c) O, (d) NH;
fFrefeRad & Mered 149 8 —
(@) H, (@ CH, M 0, (&) NH;

3. The outer wall (exime) of a pollen grains is composed of one of the most

resistant biological materials known as
(a) tannin (b)  pectocellulose (c)  sporopollenin

(d) lignin



RATHT BT eIl GRS TAT Sifdd YfaRiEd uarel &l §41 aidl o
o P8d & —

(@) <= (@) UdaeT gl (M) WRI dferfE

(&) forfdas

Amplification i.e multiple copies of the DNA segment is done by

(a)  southern blotting (b) PCR (c) autoradiography

(d)  fluorescent microscopy

DNA &T U& ¥ 3MfdH Sl 997 i.e. TRl 8lal & —
(@) W&ol AT (@) PCR (M  Siferfeamms
(@) WHARAS HRBIUI

The phenotypic ratio of a dihybrid cross in garden pea is

(a) 3:1 (by 1:2:1 (c) 9:3:3:1 (d 97

Hex @ U H fgax »i &1 BHIfefie orgurd 8 —

() 3:1 (@) 1:2:1 (M) 9:3:3:1 =) 97

The edible part of coconut is

(a) epicarp (b) mesocarp (c¢) endocarp (d) endosperm
AIRAS BT @R AT 9T & —

(@) 9T BRI (@) A Bl () 3fd: HeAfil
(=)  ygorreT

DDT is a

(a)  degradable pollutant (b)  non degradable pollutant

(c)  green house gas (d) None of these
DDT & —

(@) g e @) g SrfiIaRviy
@M W= T @) T 9 BIg T8l

Pyramid of energy is
(a) always upright (b) always inverted
(c)  both upright and inverted (d) None of these



ISl BT foRifae giem 8 —
(@) <qa e (@) g el () <H e AR A
&) T 9 oI% T
9. The process of formation of mRNA from DNA is called
(a)  Translocation (b)  Transcription (c)  Transduction

(d) Translation

DNA ¥ mRNA &5 &1 fsar & ®&d € —
(@) grEBT (@) wrafHRe () srESed
(&) iR

10.  Wind pollinated flowers are known as
(a)  entomophily (b)  anemophily (¢)  Ornithophily
(d) hydrophily
qu} # arg §RT W1 &I fhar wgardl & —
(@) DIc RETT (@) arg WRETT @@  uef wREToT
(&) STl WRTTOT

Group - ‘B’ Yvs — §
eﬂléag SGNERCES| very short answer type questions 2x3=6

11. What is emasculation ?

faqe= w2 ?

12.  What do you mean by Totypotency ?
SréIe=i FT 7 ?

13. Name the nitrogen bases of DNA ?
DNA & ATSCIoiHl &R & A9 ford |

Group - ‘C’ Yvs — ¥’
oTg STRII U short answer type questions 3x3=9

14.  What do you understand by double fertilization ?
fgfrarea & o1 |Hs § ? 59 UHE faRIvdrell &1 ool o |
15.  Match the column DI ‘A’ Bl Bicd BH fHemy
A B



16.

17.

18.

(i) PAN (a)  Biological magnification
(i1))  Methyl isocynate (b)  Smog

1) DDT (c) Bhopal Gas

What is Ozone layer ? What is its function ?

IS IR /T & ? 90T o B & ?

Group — ‘D’ g —
5x2=10

What is biomagnification ? How will a food chain get affected if pesticides are

not degraded ?

g A FA7 2 ? NSHARN TR Iru™fed 7 & A6 SMER Sl H I

T Y91d g7 ?
Or

Write briefly the sources of air pollution and their effects.

I UGHUT & AIGl Qd GGl O e UhreT STef |

Define pollination — give an account of the varied means of cross-pollination in

plants.

URTTOT 1 GRATST SIRTT | diel § IR—uRETor &1 fAfet &1 goiq $Hifg |
SRACT

What are Homologous and analogous organs ? Explain by giving example.

THAGTT 3T U4 TFHAGIT T RIT & ? SSTENUT xR FHsTSU |



BIOLOGY Sila— fasma
OPTIONAL

MODEL PAPER SET - II

SECTION 'A’ - BOTANY

Time :- 90 Minutes Max. Marks — 35
Class : XII Pass Marks — 1112

All questions are compulsory 41 ¥e7 ifart 7|
Candidates are required to give answer in their own words as far as possible.

GENERAL INSTRUCTION

This question paper consists of four groups i.e. A, B, C, & D
S U H IR g JAT I, 9, H 3R T 2|
All groups are compulsory ¥ U 31 a2 |

GROUP'A' ¥vs — I

Select one correct answer 1x10 =10
el b AEl IR Bl A
1. The term mutation was coined by
(a) Mendel (b) Morgan (c) Hugo de vries (d) Darwin
RICTM g DI YANT YA fbar o

(@) Hsdd (@) AR () = ST RIS (9) Sifad

2. The distance between two adjacent nucleotides is
(@) 34 A° (b) 10 A°  (c)3.4A° (d)0.34A°

S HANTA Yfhdiciss & d91d & g0 Bl & —

() 34 A0 (@)10A° (1) 3.4A° (¥) 0.34 A0

3. The Bacteria found in the root nodules of leguminous plants are

(a) Rhizobium (b) Azobactor (c) Straphylococcus (d)
Lactobacillus



Tofger UIEl & TSl & TS | Uil S dTell Siary] & —

(@) OfeAT (@) VSlledex () BhADIHT (§) ddhcieerd

4. In which type of association one species get benefit and the interaction is
detrimental to other species?
(a) Mutualism (b) commensalism (c) symbiosis (d)
parasitism

S SR & Sl &1 IR g [ST9H Tl dl a™ 3R TR
P foru sifgdex 81 degerdr 2
(@) wgearerdd (@) SR Al (1) R (@) Riafess

5. The graphical representation of ecological parameters sequence wise in
successive trophic levels is called
(a) ecological succession (b) ecological imbalance

(c) Ecological parameters (d) productivity

ffr= ol wR &1 gRRAfdd IR & MR R Har 737 Jmeig
IR HEATAT ©

() uTRRRerfde 3gpd (@) uTRRerfded rEger

(1) uiRRerfde fURIAE (@) IATadHT

6. Which of the following is mainly responsible for depletion of ozone layer?
(a) CH4 (b) CO: (C) CFC (D) NO2

3O URA & &9 & T BRI 3
(®) CH» (@) co; () CFC  (8) NO:

7. The edible part of apple is

(a) endocarp (b) mesocarp (c) endosperm (d)
thalamus

I BT WHT SIHaTell 9T 8
() JTHARRI (@) FIBAMNI () YOI (4) JUTEA

8. Which part of the follower as the source of saffron (kesar) of zafrom?
(a) style (b) stigma (c) petals (d) pedicel

TR q9 & {5 AR & 9T fhar S §
(@) afcrar (@) afdspra (M) wger  (8) ufsHa

9. Who had coined the term mutation?



(a) morgan (b) hugo de vries (c) Alexander Flemming
(d) Dixon and jolly

RICTM e DI YANT AIYH fbar

(@) AR (@) T & R () AeThdAS BAAT

(8) SHAT AR Srell

10. The to ruin protein produced by bacillus thuringiensis is
(a) cry protein (b)auxin  (c) opine (d)leg hemoglobin

qg Tl YIS ST dRIel SRTold & gIRT 9131 STl &
(@) wx T (@) AT (M) ST (8) T T

GROUP-B WS §
2x3=6

11. Name the two purines of DNA molecule?
DNA® & R BT M o

12. Differentiate between test cross and backcross.
oY BT UG 9 I § IR W PN |

13. Why is apple called a false fruit? Which part of the flower forms the fruit?
A DI AT el AT BB ST 2 2 el BT I I 2T Bl ATl

=

GROUP-C Ws 9

3x3=9

14. Write four adaptive features of an insect pollinated flower

BT RT WAV & Y o & gl IR el Bl o |

15. differentiate between RNA and DNA
RNATGDNA ¥ 3[R W< Y

16. complete the table cqe Bl P\ B
Name of interaction species A species B
Cooensalism a 0
Amensalism - b
Mufualism C +




GROUP-D W &

17. With a neat diagram explain the 7- celled and 8 nucleated
nature of a female gametophyte

AT DI RIBIT TG TS Deadh dlel AIGT YUIDIY BT Fia= o BN |

AT

What is meant by incomplete dominance? in snapdragon a plant with red
flowers was crassed with a plant with white flower. Work out all the
possible genotype and phenotype of F, and F2 generation.

YU YT I BT FHSKI & ° FUSTT & U H el I 3R Ihg
ST H FHRIY MY 1A B §HR AR Uil & SiARZy iR fheresy
BT T |

18. Describe biodiversity. Describe short notes and causes of biodiversity
losses.

Slg fafdear o kv ford | Slg Afdgdr & afd & @1 SR 87
wfera faawor < |

AT
Write about the factors and effects of global warming? how it can be controlled?
A T & BRI UG gHral & IR H o | 39 by T b
ST &7



BIOLOGY  ofid fasi=

OPTIONAL
MODEL PAPER SET - 111

SECTION ‘A’ - BOTANY

Time :- 90 Minutes Max. Marks — 35
Class : XII Pass Marks — 11V

All questions are compulsory \HT U2 37fd q 7
Candidates are required to give answer in their own words as far as possible.

GENERAL INSTRUCTION

This question paper consists of four groups i.e. A, B, C, & D
S U H IR g JAT I, 9, F 3R T 2|
All groups are compulsory T4 T 31f+aT % |

Group - ‘A’ Yrs — I

Select one correct answer I x10=10
el U HE TR BT I
1. How many pairs of contrasting characters were selected by Mendal ?

(@ 2 (b) 3 () 7 d 1

Hed 1 foha S faudia stefort &1 g7 ?

(®) 2 (@) 3 M 7 (&) 1
2. The organisms which enrich the nutrient quality of the soil are called

(a)  Microbes (b)  Biofertilizers (c) Yeast

(d) Biopesticides
g of I8 &1 SR edar &7 derd 8, e & —

(@) HISDIOT (@) dEHEoTgoR M =
(@) SRR
3. PCR is used to
(a) Cut the DNA (b)  Amplify the DNA (c) Join the DNA

(d)  Stain the DNA



PCR &1 SUIIT BT & —

(%) DNA & ®led | (@) DNA &I 9g H

()  DNA & Sire # () DNA & T4 #H |

The association in which one species is benefitted and the other is neither
benefitted nor harmed is

(a) Mutualism (b) Commensalism (c) Parasitism

(d) None of these
Q1 Sidl BT IR Hey [ U B ™ 81 IR §EX Bl 7 v | g

8 HEATA T —

(@) wgeETerdd (@) PHTAforRTH (M) o=SifeEr
@) 3T A PIE T

Which one is a cause of loss of biodiversity ?

(a) Habitat loss and fragmentation (b)  Over — exploitation
(c)  Alien species invasion (d)  All of these

S ffderdr & &9 & BRI § —

(@) STmaRIT SRy T faed (@) sfcrared

(M) <=l Sfoat &1 smeHT @) T |

The Ozone layer protect us from
(a) Pollution (b) Infrared radiation (c) UV radiation
(d) None of these

IS URd 85 94rdT © —

(@) uguI A (@) SWHRS AeweE | G I VAN SIS I
&) T 9 I8 T

The edible part of coconut is

(a) Epicarp (b)  Mesocrap (c)  Endocarp

(d) Endosperm

RIS BT FRT S ATAT 41T & —

() STET Bl (@) weg weffix () T Hercil
() oT Hre

Which alga is used in single cell protein (SCP)
(a) Nostoc (b)  Gelidium (c) Diatom



(d)  Spirulina
g8 NaTel FTFHT STINT Udbod bIfhT Yifed & f=Hior & grer & —

(@) -AETD (@) Sielifead (M) er™FeH
@) ISl
9. Pyramid of energy is
(@)  Always inverted (b)  Always upright
(c)  Sometimes upright and sometimes inverted (d) None of these
Ioft & IR g 2 —
(@) g Secl (@) qa e (M) B e BT el
@) 7 A B T
10. In most cases pollen grains shed at stage
(@) 2 Celled (b) 3 Celled (c) 4 Celled

(d) None of these

TR IRITHYT S & —

(@) fepIfR¥am saxer H @) Befrer sravern
@ =g HIfraerg sraverm # (@) 3T A B3 ol

Group - ‘B’ Yrs — q’
311%1?&2[ SGNERCES very short answer type questions 2x3=6

11. Name the two pyrimidines of DNA molecule.
DNA & TI UI¥IfAeT &7 M ford |

12.  What is smog ?
SR T B P

13.  What is food chain ?
3MBR STl o7 § 2

4

Group - ‘C Yrs — 9
oTg STRII U short answer type questions 3x3=9

14.  Give four characteristics of wind Pollinated flowers ?



15.

16.

17.

18.

g WRIATT g & TR faradrat o1 ford |

Differentiate between monohybrid cross and dihybrid cross.
T HHR HiF Td fgdde HE H R T N |
Match the column BTeld ‘A’ &I HiaH ‘B’ A e

A B
i) DDT (a) CO,
i) PAN (b)  Biological magnification
(i11)) Global Warming (c) Smog
Group — ‘D’ Yvs — ¢

5x2=10

What is Ecological pyramid ? Draw a Pyramid of number considering a big tree.

uRReIfes RIS &1 8 ? U a9 g8 Bl IR A B A& & [UR1HS
HT e auie o |
AT
Explain the Law of dominance using monohybrid cross.
UHHDHR A gIRT GATAT & 199 DI A |
With a neat labeled diagram describe the parts of angiosperm ovule.
v TR diorie B aRE aoE 3 |
SAPEI

Pollination is an important phenomenon in the life cycle of a flowering plant.

Describe the agents responsible for this.

RETYT fel goii dig & Sfias Sl @l Ag@yqul 9T © S9d BRI Bl
qUI PN |




BIOLOGY  ofid fasi=

OPTIONAL
MODEL PAPER SET - 1V

SECTION ‘A’ - BOTANY

Time :- 90 Minutes Max. Marks — 35
Class : XII Pass Marks — 11V

All questions are compulsory \HT U2 37fd q 7
Candidates are required to give answer in their own words as far as possible.

GENERAL INSTRUCTION

This question paper consists of four groups i.e. A, B, C, & D
S U H IR g JAT I, 9, F 3R T 2|
All groups are compulsory T4 T 31f+aT % |

Group - ‘A’ Yrs — I
Select one correct answer I x10=10
Pl T |E IR DI g
1. Who is considered as father of genetics ?
(a) Morgan (b) Mendel (c) Hugo de vries
(d) Darwin
e Sraifrear &1 faar wer rar 2 2
(@) HE @) wHAed (m =g I aRky
(&) Sffd=
2. Which is known as molecular scissor ?
(a) Ligase (b)  Pectinase (c) Cellulase
(d) Restriction Enzyme
s 9 fog HAiferager Ao H'T ofrar € —
(@) <A (@) uBEH (M) Aegelrdt
(@) NI ST Ffharyol
3. The population density in a particular habitat increases due to
() Mortality (b)  Emigration (c) Natality

(d) None of these
P I BT IEE] g9 39 BRI gadl & —




(@) TIax (@) dfead (M SR

&) 37 A PIg T

Both the interacting species get benefitted in

(a)  Arasitism (b) Predation (c) Commensalism
(d) Mutualism

Sial T IR Hay o M1 Sfcral &I a8 dedrdl § —

(@) GRS (@) u=weToT C)BECICE IR
(o) wpeaferr

Which region is known as Lungs of the Planet ?

(a)  Silent valley (b) Amazon rain forests (c)  Western ghats

(d)  Yellowstone park
398 9 59 &3 3T el ol § o7 3% § WHe —

() wTSeiC el (@) AT T BRIE @ 9% =e

(@) YRS dTdh

The Ultraviolet radiation coming from the sun is prevented to reach earth by
(a) SO, (b) NO, (c) CO, (d)  Ozone Layer
98 TR ST G B URET ol a1 gedl W uE & A § —

(@) SO, (@) NO, ()  CO, (@) Sfoi u_d
B T variety is associated with which crop ?

(a) Wheat (b) Rice (c) Cotton (d) Maize

B T RSS! &1 ey frd o 9 & ? —

@) g (@) o (M) U (&) WD
World environment day is celebrated on

(a) 21 March (b) 7™ April (c) 5" June

(d 11" July

feq uaferor faqe #=mar Sfen 8 —

(@) 21 91 BT @) 7 Wi B (@M 5 S @

@) 11 JoIs Bl

Which of the following natural resources is non — renewable ?

(a)  Wild life (b) Water (c) Coal (d) Forest

STH & DI AT RS A JFRTHRON & —



(®) Sha Sig (@) @ @ (&) ST
10.  Process of formation of mRNA from DNA is called as

(a)  Transduction (b)  Transcription (c)  Translation

(d) None of these

DNA ¥ HeZEEd RNA §99 &1 far &1 &gd & —

(@) wrESHET (@) Tt (M) gl
@) 3T W PIS T

Group - ‘B’ Yrs — 9’
eﬂléag SGNERCES| very short answer type questions 2x3=6
| are used to cut DNA whereas ............ is used to join DNA

(ligase, Restriction enzyme.)

BT SYIRT DNA BT dwred & oy orar & SJetd

@1 STATT DNA &I Sired § fHar Sirar 21 (s, IRgIer vorgH)
12.  Name two harmful effects of smog in human.

WRT & QT 8BRS g9l DI fored |
13.  What is Parthenocarpy?

31y He aT B P

Group — ‘C’ grs — b’
oy ST U9 short answer type questions 3x3=9

14.  What is plasmid in bacteria ? Discuss its utility.
el STamo] & wiIffre r & ? sl 91 U & ?
15.  Differentiate between transcription and translation.
SIAhE TG RIS § 3fay T &Y |
16.  Match the column BfetH ‘A’ B HiaH ‘B’ A Hamy

A B
(i) Zygote (a)  Triploid
(i1)) Endosperm (b) Haploid

(i11)) Pollen grain (c) Dipliod



17.

18.

Group - ‘D’ g — @

5x2=10

Describe the structure of DNA with the help of a diagram.
DNA &1 g1 BT FirF qoi P |

SAdT
What is Biodiversity. Describe in brief any three important components of
Biodiversity.
Sig fafdear 9 @1 2 ? o9 [Afddr & el 39 939 gcai b1 e
fqaxor fefeg ?
What is meant by double fertilization. Write its significance in angiosperm.
fgfea & @r J9erd & ? Ul WH | 59 Heed al ford |

SAdT

What is Pollination? Differentiate between cross Pollination and self

Pollination.



BIOLOGY  ofid fasi=
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All questions are compulsory FHT I 37fd q 7
Candidates are required to give answer in their own words as far as possible.

GENERAL INSTRUCTION

This question paper consists of four groups i.e. A, B, C, & D
S U H IR g JAT I, 9, F 3R T 2|
All groups are compulsory T4 T 31f+aT % |

4

Group - ‘A g — I’

Select one correct answer 1x10=10

el U HE TR BT I

1. PANis a
(a)  Primary pollutant (b)  Secondary pollutant
(c)  Water pollutant (d)  Sound pollutant
PAN ® ?
CONIRIEEA AL (@) fe<ia wqwe
(T)  oTel UguD (=) = ugye
2. The edible part in Litchi is ?
(@) Endosperm (b)  Mesocarp (c) Fleshy aril
(d) Epicarp
S H I SIETe AR § —
(@) Yo (@) e Bafih (m oRe
(&) 9T Bl
3. Endosperm is
(a) Haploid (b)  Diploid (c)  Triploid
(d) None of these

YUY &Il & —



(@) i (@) fefor (m) P
@) T E PR T

Ti-Plasmid is found in

(a)  Agrobacterium tumifaciens (b) E.Coli

(c) Bacteriophage (d) None of these

Ti- SIS IR ST & —

(@) TINHeRTT cgiwRTE (@) 3. P

@M  dBIRATBT (@) 3T A dlg ol
Kaziranga national park is famous for ?

(a) Tiger (b) Lion (c) Elephant (d) Rhinoceras
BIGIRIT Y I fhaa forg ulg & —

(@) @™ (@) W (m) sl CIRIS]
Insect pollinated flowers are

(a) Light (b)  Non - sticky (c)  Brightly coloured
(d)  Feathery

HIC TRETIT I o faRiyar & —

(®) ®seomm (@) fofrwfed @) wHSIR Gen
(&) AGeR

Semiconservative method of DNA replication was proposed by

(a) Meselsan and Stall (b) Watson and Crick

(c) Hershey and Chase (d)  Frederick Griffith

DNA & UfiepRoT &1 eiarell A b g1 ufcaried fbar war —
(B) WHE AR LI (@) dareHd AR fhd

(M &4 T @) weRe Rifthe

The phenotypic ratio of a dihybrid cross in garden pea is

(a) 3:1 (b)y 1:2:1 (c) 9:3:3:1 (d 97
AR & U ¥ @R i &1 {BAIe® U & —

() 3:1 (@) 1:2:1 (M) 9:3:3:1 =) 97

Acid rain is caused due to ?

(a) NO, & SO, (b) CH,; & CFC (c) CO, & CFC
(d) CH;&NH

3T Ayt BT HROT B —



(@) NO, & SO, (@) CH, & CFC (f)  CO, & CFC

() CH,; &NH

10.  In the ecosystem herbivores are
(a)  Primary consumer (b)  Secondary consumer
(¢)  Tertiary consumer (d)  Producers
aRRerfcres o # eMPpIERI B § —
(@) urafAe SuHTaT @) fedras Suwadn
Y IEGCICASERICNI (@) SdGDH

Group - ‘B’ Yvs — 9’
eﬂléag SGNERCES| very short answer type questions 2x3=6

11.  Thorn of Bougainvillea and tendrils of cucurbita are ............ whereas tubers
of sweet potato are .............. organs.

SIAferan &7 Pier 3R Haxfder o gaw 2 Sldfth IPNDT

3R 31 3R
12.  What 1s acid rain ?

AT 9Nt RT B ?

13.  What is pollination ?
URTTO] T § 7

Group - ‘C’ g — 9

oTg STRII U short answer type questions 3x3=9



14.

15.

16.

17.

18.

Match the column bIcTd ‘A’ &I hicdq ‘B’ I fd QU

A B
(1)  Aripened ovary (a)  Vallisneria
(11) A wind pollinated flower (b)  Fruit
(iii)) A water pollinated flower (c) Maize

Draw a labeled diagram of an embryo sac.
T YOIBHIY BT AHifbd o 97 |
Differentiate between PCR and ELISA.
PCR 3R ELISA # /<R W< N |

9

Group - ‘D g —
5x2=10

Define Biodiversity. Describe in brief any three important components of
Biodiversity.
Sig fafderar & aRvmn ford | Sia fafderdr & fe=i 09 g&a gcal &1
e feRer |
SAdT
Describe the structure of DNA with the help of diagram.
DNA @1 =T &l |ferd aoiF & |
Draw a labeled diagram of the following:
(a) T.S. of bilobed anther.

(b)  Internal structure of a pollen grain.
fFefeiRaa & Hifba o g t:
(a) fgorssd goar &1 T.S.
(b) URTTOTH bl AR AT
SIPEI

What is water pollution ? Name at least three water pollutants and their harmful

effects.

ST UuUl T & ? fhel M ST Ugud & AW o Td BiMaRE 94T
BT ford |



